

International Journal of Advanced Research in Science, Communication and Technology (IJARSCT)

Volume 2, Issue 2, April 2022

On Distributional Sadik Transform and Boehmian Space

Ghanwat A. J.1 and Dr. Gaikwad S. B.2

MES's, Shri Dnyaneshwar Mahavidyalaya, Newasa, Ahmednagar, Maharashtra, India¹ P. G. Department of Mathematics, New Arts, Commerce and Science College, Ahmednagar, Maharashtra, India² pushkar1967@rediffmail.com¹ and sbgmaths@gmail.com²

Abstract: In present article the author has tried to define Sadik Transform in distributional sense. Some of the properties of Sadik transform are proved. Boehmian Space for Sadik distributional transform is defined along with some basic properties.

Keywords: Boehmians, Distributions, Sadik transform

Subject Classification: 33C99

I. INTRODUCTION

Convolution Function: The convolution of the function [3]f(t) and g(t) is defined as

$$f(t) * g(t) = \int_0^t f(t - u) g(u) du.$$

Convolution Theorem: [4] If $S_a\{f(t)\} = F(v^\alpha, \beta)$ and $S_a\{g(t)\} = G(v^\alpha, \beta)$. Then

$$S_a\{f(t)*g(t)\} = S_a\left\{\int_0^t f(t-u)g(u)du\right\}$$

$$=v^{\beta}S_{a}\{f(t)\}S_{a}\{g(t)\}=v^{\beta}F(v^{\alpha},\beta)G(v^{\alpha},\beta).$$

Properties: [1]

(1) If k_1 , k_2 are non-negative real numbers then

$$S_a\{k_1f(t) + k_2g(t)\} = k_1S_a\{f(t)\} + k_2S_a\{g(t)\}.$$

(2)
$$\lim_{t\to 0} f(t) = \lim_{v\to 0} S_a\{f(v)\} = f(0).$$

The Sadik Transform of Distribution:

Let $E(R_+)$ be the space of smooth functions of an arbitrary support on R_+ and $E'(R_+)$ be its strong dual of distributions of compact support. Denote $D(R_+)$ as subspace of $E(R_+)$ of test functions of compact support then its dual space $D'(R_+)$ consists of Schwartz distributions.

Clearly, $D \subset E$ and hence $E \subset E' \subset D'$.

The Kernel function $K(v,t) = \frac{e^{-tv^{\alpha}}}{v^{\beta}}$ of Sadik transform is a member of $E(R_+)$.

Hence, it will be suitable to define **distributional Sadik Transform** of $f(t) \in E'(R_+)$ as the adjoint operator

$$\varphi(v) = \langle f(t), \frac{e^{-tv^{\alpha}}}{v^{\beta}} \rangle \dots (1);$$

where v-complex variable, α -any non-zero real number and β -any real number, for every distribution

$$f \in E'(R_+)$$
.

648



International Journal of Advanced Research in Science, Communication and Technology (IJARSCT)

Volume 2, Issue 2, April 2022

Theorem 1: φ is well defined mapping in the space $E(R_+)$. As $\frac{e^{-tv^{\alpha}}}{v^{\beta}} \in E(R_+)$.

Theorem 2: φ is infinitely smooth and $\frac{d^k}{dv^k}\{\varphi(v)\} = \langle f(t), \frac{d^k}{dv^k} \left(\frac{e^{-tv^\alpha}}{v^\beta}\right) \rangle$, for every $f(t) \in E'(R_+)$.

To prove this theorem we can use Theorem 2.9.1 from [11]

Theorem 3: φ is linear operator.

Definition 1: Let $f, g \in E'(R_+)$. The generalized convolution between f and g is defined by

$$\langle (f * g)(t), \emptyset(t) \rangle = \langle f(t), \langle g(x), \emptyset(t+x) \rangle \rangle$$
, for every $\emptyset \in E(R_+)$(2)

Using equation (1) and (2), we will get $\varphi(f * g)(v) = v\varphi f(v) \cdot \varphi g(v)$.

Theorem 4: Let
$$f \in E'(R_+)$$
 and $g(t) = \begin{cases} f(t-a), & t \ge a \\ 0, & t < a \end{cases}$ then
$$S_a\{g(v)\} = e^{-av} \varphi\{f(v)\}$$

Proof: Here, clearly $g \in E'(R_+)$. A translation property of distributions through a[11] implies that

$$S_a\{g(v)\} = \langle f(t-a), ve^{-vt} \rangle = e^{-av} \varphi\{f(v)\}.$$

{Put
$$t - a = v : t = v + a$$
,

Now, if
$$t = athenv = 0$$
 and $t = \infty thenv = \infty$.

$$\therefore S_a\{g(v)\} = \langle f(v), ve^{-v(v+a)} \rangle = \langle f(v), ve^{-av}, e^{-v^2} \rangle$$
$$= e^{-av} \langle f(v), ve^{-v^2} \rangle = e^{-av} \varphi\{f(v)\}\}$$

Theorem 5: Let $f \in E'(R_+)$ then

(i)
$$S_a(t, f(t)) = -\frac{1}{\alpha v^{\alpha-1}} \cdot \frac{d}{dv} (\varphi(v)) - \frac{\beta}{\alpha v^{\alpha}} \cdot \varphi(v)$$
.

(ii)
$$S_a(t^2.f(t)) = (-1)^2 \left(\frac{1}{\alpha v^{\alpha-1}} \cdot \frac{d}{dv} + \frac{\beta}{\alpha v^{\alpha}}\right)^2 \varphi(v)$$
.

Proof: By using equation (1) and (2) above we have,

$$\begin{split} \frac{d}{dv}\{\varphi(v)\} &= \frac{d}{dv}\langle f(t), \frac{e^{-tv^{\alpha}}}{v^{\beta}} \rangle = \langle f(t), \frac{d}{dv} \left(\frac{e^{-tv^{\alpha}}}{v^{\beta}} \right) \rangle \\ &= \langle f(t), \frac{d}{dv} \left(v^{-\beta} e^{-tv^{\alpha}} \right) \rangle \\ &= \langle f(t), \left(e^{-tv^{\alpha}}. \left(-\beta \right) v^{-\beta-1} + v^{-\beta}. e^{-tv^{\alpha}}. \left(-t \right) \alpha v^{\alpha-1} \right) \rangle \\ &= \langle f(t), -\frac{\beta}{v^{\beta+1}}. e^{-tv^{\alpha}} - \alpha v^{\alpha-1}. \frac{1}{v^{\beta}}. t. e^{-tv^{\alpha}} \rangle \\ &= \langle f(t), -\frac{\beta}{v}. \frac{1}{v^{\beta}}. e^{-tv^{\alpha}} - \alpha v^{\alpha-1}. \frac{1}{v^{\beta}}. t. e^{-tv^{\alpha}} \rangle \quad [10, 26(2)] \\ &= \langle t. f(t), -\alpha v^{\alpha-1}. \frac{1}{v^{\beta}}. t. e^{-tv^{\alpha}} \rangle - \langle f(t), \frac{\beta}{v}. \frac{1}{v^{\beta}}. e^{-tv^{\alpha}} \rangle \\ &= -\alpha v^{\alpha-1} \langle t. f(t), \varphi(v) \rangle - \frac{\beta}{v} \langle f(t), \varphi(v) \rangle. \end{split}$$



International Journal of Advanced Research in Science, Communication and Technology (IJARSCT)

Volume 2, Issue 2, April 2022

Divide by $\alpha v^{\alpha-1}$, we will get

$$\frac{1}{\alpha v^{\alpha-1}} \cdot \frac{d}{dv} \{ \varphi(v) \} = -S_a \left(t \cdot f(t) \right) - \frac{\beta}{v} S_a \left(f(t) \right) \cdot \frac{1}{\alpha v^{\alpha-1}}$$
$$\therefore S_a \{ t \cdot f(t) \} = -\frac{1}{\alpha v^{\alpha-1}} \cdot \frac{d}{dv} \{ \varphi(v) \} - \frac{\beta}{\alpha v^{\alpha}} \{ \varphi(v) \}.$$

$$(ii) S_a\{t^2.f(t)\} = S_a\{t.(t.f(t))\} = \frac{d}{dv}\langle f(t), \frac{d}{dv}(v^{-\beta}e^{-tv^{\alpha}})\rangle$$

$$= \langle f(t), -\frac{1}{\alpha v^{\alpha-1}} \cdot \frac{d}{dv}\left(-\frac{1}{\alpha v^{\alpha-1}} \cdot \frac{d}{dv}\{\varphi(v)\} - \frac{\beta}{\alpha v^{\alpha}}\{\varphi(v)\}\right) - \frac{\beta}{\alpha v^{\alpha}}\left(-\frac{1}{\alpha v^{\alpha-1}} \cdot \frac{d}{dv}\{\varphi(v)\} - \frac{\beta}{\alpha v^{\alpha}}\{\varphi(v)\}\right)\rangle$$

$$= \langle f(t), -\frac{1}{\alpha v^{\alpha-1}}\left[-\frac{1-\alpha}{\alpha v^{\alpha}} \cdot \frac{d}{dv}\{\varphi(v)\} - \frac{1}{\alpha v^{\alpha-1}} \cdot \frac{d^2}{dv^2}\{\varphi(v)\} - \left(\frac{\beta(-\alpha)}{\alpha v^{\alpha+1}}\{\varphi(v)\} - \frac{\beta}{\alpha v^{\alpha}} \cdot \frac{d}{dv}\{\varphi(v)\}\right)\right]\rangle$$

$$-\frac{\beta}{\alpha v^{\alpha}}\left[-\frac{1}{\alpha v^{\alpha-1}} \cdot \frac{d}{dv}\{\varphi(v)\} - \frac{\beta}{\alpha v^{\alpha}}\{\varphi(v)\}\right]\rangle$$

$$= \langle f(t), \frac{1-\alpha}{\alpha^2 v^{2\alpha-1}} \cdot \frac{d}{dv}\{\varphi(v)\} + \frac{1}{\alpha^2 v^{2\alpha-2}} \cdot \frac{d^2}{dv^2}\{\varphi(v)\} - \frac{\beta}{\alpha v^{2\alpha}}\{\varphi(v)\} + \frac{\beta}{\alpha^2 v^{2\alpha-1}} \cdot \frac{d}{dv}\{\varphi(v)\} + \frac{\beta}{\alpha^2 v^{2\alpha-1}} \cdot \frac{d}{dv}\{\varphi(v)\} - \frac{\beta}{\alpha^2 v^{2\alpha-1}} \cdot \frac{d}{dv}\{\varphi(v)\} + \langle f(t), \frac{1-\alpha+2\beta}{\alpha^2 v^{2\alpha-1}} \cdot \frac{d}{dv}\{\varphi(v)\} + \langle f(t), \frac{\beta^2}{\alpha^2 v^{2\alpha-1}} - \frac{\beta}{\alpha v^{2\alpha}} \{\varphi(v)\} \rangle.$$

By properties of distributions, we have

$$\begin{split} S_a\{t^2.f(t)\} &= \frac{1}{\alpha^2 v^{2\alpha - 2}} \langle t^2.f(t), \varphi(v) \rangle + \frac{1 - \alpha + 2\beta}{\alpha^2 v^{2\alpha - 1}} \langle t.f(t), \varphi(v) \rangle + \left(\frac{\beta^2}{\alpha^2 v^{2\alpha}} - \frac{\beta}{\alpha v^{2\alpha}}\right) \langle f(t), \varphi(v) \rangle \\ &= (-1)^2 \langle f(t), \left[\frac{1}{\alpha v^{\alpha - 1}} \cdot \frac{d}{dv} + \frac{\beta}{\alpha v^{\alpha}}\right]^2 \varphi(v) \rangle \\ &= (-1)^2 \left(\frac{1}{\alpha v^{\alpha - 1}} \cdot \frac{d}{dv} + \frac{\beta}{\alpha v^{\alpha}}\right)^2 \varphi(v). \end{split}$$

Theorem 6: (Shifting property) Let $f \in E'(R_+)$ then $S_a\{e^{at}.f(t)\} = \frac{(v^\alpha - a)^{\frac{\beta}{\alpha}}}{v^\beta}\varphi(v^\alpha - a)$

Proof:
$$S_a\{e^{at}.f(t)\} = \langle f(t), e^{at}.\frac{e^{-tv^a}}{v^\beta}\rangle$$

$$= \langle f(t), \frac{1}{v^{\beta}} e^{-t(v^{\alpha} - a)} f(t) \rangle$$
$$= \langle f(t), \int_{0}^{t} \frac{1}{u^{\beta}} e^{-t(v^{\alpha} - a)} f(t) dt \rangle.$$

Put
$$v^{\alpha} - a = u^{\alpha} : v^{\alpha} = u^{\alpha} + a \Rightarrow v = (u^{\alpha} + a)^{\frac{1}{\alpha}}$$

$$\therefore v^{\beta} = (u^{\alpha} + a)^{\beta/\alpha}.$$

$$\therefore S_a\{e^{at}.f(t)\} = \langle f(t), \frac{1}{v^{\beta}} \int_0^t e^{-tu^{\alpha}}.f(t)dt \rangle$$
$$= \frac{1}{v^{\beta}} \langle f(t), \int_0^t e^{-tu^{\alpha}}.f(t)dt \rangle$$



International Journal of Advanced Research in Science, Communication and Technology (IJARSCT)

Volume 2, Issue 2, April 2022

$$= \frac{1}{v^{\beta}} \langle f(t), u^{\beta} \varphi(u) \rangle$$

$$= \frac{u^{\beta}}{v^{\beta}} \langle f(t), \varphi(u) \rangle$$

$$= \frac{(v^{\alpha} - a)^{\frac{\beta}{\alpha}}}{v^{\beta}} \varphi(v^{\alpha} - a) \text{ is proved.}$$

Boehmians:

Consider a linear space V and U a subspace of V. For each pair of members, $u \in V$ and $v \in U$, define a product u * v satisfying the conditions

- (i) $v, w \in U \Rightarrow v * w \in U$ and v * w = w * v.
- (ii) $u \in V$ and $v, w \in U \Rightarrow (u * v) * w = u * (v * w)$
- (iii) $If u_1, u_2 \in V, v \in U$ and $k \in \mathbb{R}$. Then $(u_1 + u_2) * v = u_1 * v + u_2 * v$ and $k(u_1 * v) = (ku_1) * v$.

Now, if Δ denotes the family of sequences from U which satisfy

- (i) If $u_1, u_2 \in V$, $(x_n) \in \Delta and u_1 * x_n = u_2 * x_n, n \in \mathbb{N}$ then $u_1 = u_2$.
- (ii) (x_n) , $(y_n) \in \Delta \Rightarrow x_n * y_n \in \Delta$. Then here every member of Δ is called a δ -sequence.

Let $S = \{((x_n), (z_n)): (x_n) \subseteq V^N, (z_n) \in \Delta\}$ be a class of pairs of sequences for each $n \in \mathbb{N}$.

Here, an element $((x_n), (z_n)) \in S$ denoted by $\frac{x_n}{z_n}$ is a quotient of sequences when

$$x_i * z_i = x_i * z_i, \forall i, j \in \mathbb{N}.$$

Two quotient of sequences $\frac{x_n}{z_n}$ and $\frac{y_n}{\varphi_n}$ are said to be equivalent if $x_i * z_j = y_j * \emptyset_i$, $\forall i, j \in \mathbb{N}$;

denoted by
$$\frac{x_n}{z_n} \sim \frac{y_n}{\phi_n}$$

Here, ~ is an equivalence relation on S and hence induces the equivalence classes of S.

Denotes the equivalence class of $\frac{x_n}{z_n} \text{by} \left[\frac{x_n}{z_n} \right]$. These equivalence classes are called Boehmians.

We shall denote the space of all Boehmians by B_H .

Now, we can define the sum of two Boehmians and multiplication by a scalar as-

$$\left[\frac{x_n}{z_n}\right] + \left[\frac{y_n}{\emptyset_n}\right] = \left[\frac{(x_n * \emptyset_n) + (y_n * z_n)}{z_n * \emptyset_n}\right] \text{ and } \alpha \left[\frac{x_n}{y_n}\right] = \left[\frac{\alpha x_n}{y_n}\right], \alpha \in C.$$

Also the product operation * and the differentiation can be defined by

$$\left[\frac{x_n}{y_n}\right] * \left[\frac{z_n}{\phi_n}\right] = \left[\frac{x_n * z_n}{y_n * \phi_n}\right] \text{ and } D^{\alpha}\left[\frac{x_n}{y_n}\right] = \left[\frac{D^{\alpha} x_n}{y_n}\right].$$

The linear space V has a notion of convergence. The natural relationship between the product * and the convergence is given by

- (1) If $x_n \to xasn \to \infty$ in V and for any fixed element u of U, $x_n * u \to x * u$ in V as $n \to \infty$.
- (2) If $x_n \to xasn \to \infty$ in V and $(\delta_n) \in \Delta then x_n * \delta_n \to xinVasn \to \infty$.

Definition 2: If $\left[\frac{x_n}{y_n}\right] \in B_H$ and $u \in U$ then $\left[\frac{x_n}{y_n}\right] * u = \left[\frac{x_n * u}{y_n}\right]$.

This is an extension of * operation to $B_H \times U$.



International Journal of Advanced Research in Science, Communication and Technology (IJARSCT)

Volume 2, Issue 2, April 2022

Two types of convergence $\delta and \Delta$ on B_H as

Definition 3: A sequence of Boehmians $(\alpha_n) \in B_H$ is said to be δ-convergent to α if there exists a δ- sequence (\emptyset_n) such that $(\alpha_n * \emptyset_n), (\alpha * \emptyset_n) \in S, \forall n \in \mathbb{N}$ and

$$(\alpha_n * \emptyset_k) \to (\alpha * \emptyset_k) inSasn \to \infty, \forall k \in \mathbb{N}.$$

It is denoted by $\alpha_n \stackrel{\delta}{\to} \alpha$.

Definition 4: A sequence of Boehmians $(\alpha_n) \in B_H$ is said to be Δ -convergent to α if there exists a δ - sequence $(\emptyset_n) \in \Delta$ such that $(\alpha_n - \alpha) * \emptyset_n \in S$, $\forall n \in \mathbb{N}$ and $(\alpha_n - \alpha) * \emptyset_n \to 0$ in $Sasn \to \infty$.

It is denoted by $\alpha_n \stackrel{\Delta}{\to} \alpha$.

The Sadik Transform of Boehmian:

Let $V = L^1(R_+)$ and $U = D(R_+)$, and Δ be the collection of sequences (x_n) from $U = D(R_+)$ such that

$$1. \int_{R_+} x_n(t) dt = 1$$

2. $||x_n||_{L^1} < M$, for all $(x_n) \in \Delta$ and some constant M > 0.

$$3.\int_{|x|>\varepsilon}|x_n(t)|dt\to 0 \text{ as } n\to\infty, \varepsilon>0.$$

Then the space of Boehmians $B_H(L^1, D, *, \Delta)$ is convolution algebra with

(i)
$$\left[\frac{x_n}{z_n}\right] + \left[\frac{y_n}{\phi_n}\right] = \left[\frac{(x_n * \phi_n) + (y_n * z_n)}{z_n * \phi_n}\right] \text{ and } \alpha \left[\frac{x_n}{y_n}\right] = \left[\frac{\alpha x_n}{y_n}\right], \alpha \in R$$

(ii)
$$\left[\frac{x_n}{y_n}\right] * \left[\frac{z_n}{\emptyset_n}\right] = \left[\frac{x_n * z_n}{y_n * \emptyset_n}\right]$$

$$(iii)D^{k}\left[\frac{x_{n}}{y_{n}}\right] = \left[\frac{D^{k}x_{n}}{y_{n}}\right], k \in \mathbb{N}.$$

If $(x_n) \in \Delta$ then $S_a x_n(t) \to t$ uniformly on compact subsets of R_+ as $n \to \infty$.

Theorem 7: If $f_n \in L^1$ such that $\left[\frac{f_n}{g_n}\right] \in B_H(L^1, D, *, \Delta)$ then $S_a f_n(v) = \int_0^\infty v e^{-\frac{t}{v}} f_n(t) dt$ converges uniformly on each compact set of R_+ .

Proof: Since $S_a g_n \to vasn \to \infty$ on compact subsets of R_+ , $S_a g_n > 0$ for almost all $k \in \mathbb{N}$ and hence

$$S_{a}f_{n}(v) = S_{a}f_{n}(v).\frac{S_{a}g_{k}(v)}{S_{a}g_{k}(v)} = \frac{vS_{a}(f_{n}*g_{k})(v)}{S_{a}g_{k}(v)} = \frac{vS_{a}(f_{k}*g_{n})}{S_{a}g_{n}(v)} = \frac{S_{a}f_{k}(v)}{S_{a}g_{k}(v)}.S_{a}g_{n}(v) \text{ on } K;$$

where K is some compact subset of R_+ .

Now, taking limit as $n \to \infty$, we will get $S_a f_n(v) \to \frac{v S_a f_k(v)}{S_a g_k(v)}$.

We can define the Sadik transform of $\beta \in B_H(L^1, D, *, \Delta)$; $\beta = \left[\frac{f_n}{g_n}\right]$ by $\mathfrak{S}\beta = \lim_{n \to \infty} S_a f_n$ on compact subset of R_+ .

Claim: To prove that the definition is well defined.

If possible let $\beta_1 = \beta_2$; where $\beta_1 = \left[\frac{f_n}{g_n}\right]$ and $\beta_2 = \left[\frac{h_n}{\delta_n}\right]$ then $f_n * \delta_m = h_m * g_n = h_n * g_m$. Applying Sadik transform on both sides, we will get $v. S_a f_n(v) S_a \delta_m(v) = v. S_a h_n(v) S_a g_m(v)$.



International Journal of Advanced Research in Science, Communication and Technology (IJARSCT)

Volume 2, Issue 2, April 2022

Now, as
$$n \to \infty \lim_{n \to \infty} S_a f_n(v) = \lim_{n \to \infty} S_a h_n(v) \Rightarrow \mathfrak{S}\beta_1 = \mathfrak{S}\beta_2$$
.

Theorem 8: Let $u_1, u_2 \in B_H(L^1, D, *, \Delta)$ and $k \in \mathbb{C}$ then

- (i) $\mathfrak{S}(u_1 + u_2) = \mathfrak{S}(u_1) + \mathfrak{S}(u_2)$
- (ii) $\mathfrak{S}(ku_1) = k\mathfrak{S}(u_1)$
- (iii) $\mathfrak{S}(u_1 * f_n) = \mathfrak{S}(f_n * u_1) = v.\mathfrak{S}(u_1)$
- $(iv)\mathfrak{S}(u_1)=0 \Rightarrow u_1=0.$
- (v) $f_n \to f \in B_H(L^1, D, *, \Delta) \Rightarrow \mathfrak{S}f_n \to \mathfrak{S}f \in B_H(L^1, D, *, \Delta) \text{as}n \to \infty \text{ on compact subsets.}$

Proof: We can prove (i), (ii) and (iv) using the linearity property of Sadik transform.

To prove (iii) Let
$$u_1 \in B_H(L^1, D, *, \Delta)$$
 such that $u_1 = \left[\frac{f_n}{g_n}\right]$ then $u_1 * g_n = \left[\frac{f_n * g_n}{g_n}\right]$.

Hence,
$$\mathfrak{S}(u_1 * g_n) = v \cdot \lim_{n \to \infty} S_a f_n(v) = v \cdot \mathfrak{S}(u_1)$$
.

Also we will prove (v) using proof of Theorem 2 (f) from[2].

REFERENCES

- [1]. Nitin S. Abhale, Shivaji S. Pawar, Fundamental Properties of Sadik Transform and its Applications, Journal of Applied Sciences and Computations, Vol. VI, Issue III, March 2019, Pp-995-999.
- [2]. P. Mikusinski, Fourier Transform for Integrable Boehmians, Rocky Mountain J. Math, 17(3), (1987), Pp-577-582.
- [3]. P. Mikusinski, Tempered Boehmians and ultra-distributions, Proc. Amer. Math. Soc., 123(3), (1995), Pp-813-817.
- [4]. Sadikali Latif Shaikh, Introducing aNew Integral Transform: Sadik Transform, American International Journal of Research in Science, Technology, Engineering and Mathematics (AIJRSTEM) 18-220(2018), Pp-100-102.
- [5]. S. K. Q. Al-Omari, Boehmians and Elzaki Transform, Gen. Math. Notes, Vol. 9, No. 1, March 2012, Pp-7-15.
- [6]. S. K. Q. Ai-Omari, D. Loonker, P. K. Banerji and S. L. Kalla, Fourier sine (cosine) transform for ultra-distributions and their extensions to tempered and ultra Boehmian spaces, Integral Transforms Spec. Functions, 19(6), (2008), Pp-453-462.
- [7]. S. K. Q. Al-Omari, on the distributional Mellin Transformation and its extension to Boehmian spaces, Int. J. Contemp. Math. Sciences, 6(17), (2011), Pp-801-810.
- [8]. T. K. Boehme, The support of Mikusinski Operators, Tran. Amer. Math. Soc., 176(1973), Pp-319-334.
- [9]. Tarig M. Elzaki and Salih M. Ezaki, On the connections Between Laplace and Elzaki Transforms, Advances in Theoretical and Applied Mathematics, Vol.6, No. 1, (2011), Pp-1-10.
- [10]. A. H. Zemanian, Generalized Integral Transformation, Dover Publ. Inc., New York, (1987), First Published by Interscience Publisher, New York, (1968).
- [11]. R. S. Pathak, Integral Transform of Generalized functions and their Applications, (1997), Gordan and Breach Science Publ., Australia, Canada, India, Japan.

DOI: 10.48175/IJARSCT-3362